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1. If	face	value	=	₹50.00,	market	value	=	₹60.00,	dividend	=	9.00%,	no	of	shares	bought	=	80,	premium	=
(i) ₹10.00 (ii) ₹5.00 (iii) ₹13.00 (iv) ₹7.00 (v) ₹15.00

2. If	face	value	=	₹120.00,	market	value	=	₹170.00,	dividend	=	6.00%,	no	of	shares	bought	=	20,	total	face	value	=
(i) ₹2400.00 (ii) ₹2540.00 (iii) ₹2120.00 (iv) ₹2330.00 (v) ₹2450.00

3. If	face	value	=	₹170.00,	market	value	=	₹200.00,	dividend	=	9.00%,	no	of	shares	bought	=	90,	total	investment	=
(i) ₹18000.00 (ii) ₹17600.00 (iii) ₹16700.00 (iv) ₹19800.00

4. If	face	value	=	₹130.00,	market	value	=	₹175.00,	dividend	=	9.00%,	no	of	shares	bought	=	100,	annual	income	oneach	share	=
(i) ₹6.70 (ii) ₹11.70 (iii) ₹8.70 (iv) ₹14.70 (v) ₹16.70

5. If	face	value	=	₹170.00,	market	value	=	₹220.00,	dividend	=	6.00%,	no	of	shares	bought	=	25,	annual	income	=
(i) ₹263.00 (ii) ₹255.00 (iii) ₹242.00 (iv) ₹271.00

6. If	 face	 value	=	₹90.00,	market	 value	=	₹105.00,	 dividend	=	4.00%,	 no	 of	 shares	 bought	=	60,	 annual	 rate	 ofreturn	=
(i) 2.43% (ii) 3.43% (iii) 1.43% (iv) 5.43% (v) 4.43%

7. If	market	value	=	₹155.00,	no	of	shares	=	20,	premium	=	₹35.00,	annual	income	=	₹96.00,	face	value	=
(i) ₹120.00 (ii) ₹134.00 (iii) ₹112.00 (iv) ₹105.00 (v) ₹127.00

8. If	market	value	=	₹125.00,	no	of	shares	=	40,	premium	=	₹35.00,	annual	income	=	₹216.00,	rate	of	dividend	=
(i) 8.00% (ii) 6.00% (iii) 4.00% (iv) 5.00% (v) 7.00%

9. If	market	value	=	₹215.00,	no	of	shares	=	60,	premium	=	₹35.00,	annual	income	=	₹972.00,	total	face	value	=
(i) ₹11000.00 (ii) ₹9000.00 (iii) ₹10800.00 (iv) ₹13500.00 (v) ₹10400.00

10. If	market	value	=	₹190.00,	no	of	shares	=	80,	premium	=	₹20.00,	annual	income	=	₹680.00,	total	investment	=
(i) ₹15200.00 (ii) ₹13700.00 (iii) ₹18000.00 (iv) ₹14500.00 (v) ₹16900.00

11. If	market	value	=	₹170.00,	no	of	shares	=	75,	premium	=	₹30.00,	annual	income	=	₹315.00,	annual	income	oneach	share	=
(i) ₹6.20 (ii) ₹5.20 (iii) ₹4.20 (iv) ₹2.20 (v) ₹3.20

12. If	market	value	=	₹80.00,	no	of	shares	=	25,	premium	=	₹10.00,	annual	income	=	₹122.50,	annual	rate	of	return=
(i) 8.12% (ii) 6.13% (iii) 5.13% (iv) 4.13% (v) 7.13%

13. If	total	investment	=	₹19800.00,	dividend	=	8.00%,	number	of	shares	=	90,	premium	=	₹40.00,	face	value	=
(i) ₹174.00 (ii) ₹207.00 (iii) ₹155.00 (iv) ₹193.00 (v) ₹180.00



14. If	total	investment	=	₹2000.00,	dividend	=	8.00%,	number	of	shares	=	25,	premium	=	₹20.00,	market	value	=
(i) ₹75.00 (ii) ₹77.00 (iii) ₹83.00 (iv) ₹85.00 (v) ₹80.00

15. If	total	investment	=	₹7425.00,	dividend	=	4.00%,	number	of	shares	=	55,	premium	=	₹35.00,	total	face	value	=
(i) ₹5670.00 (ii) ₹5500.00 (iii) ₹5320.00 (iv) ₹5650.00 (v) ₹5480.00

16. If	total	investment	=	₹1875.00,	dividend	=	4.00%,	number	of	shares	=	25,	premium	=	₹25.00,	annual	income	oneach	share	=
(i) ₹1.00 (ii) ₹4.00 (iii) ₹3.00 (iv) ₹0.00 (v) ₹2.00

17. If	total	investment	=	₹15600.00,	dividend	=	3.00%,	number	of	shares	=	80,	premium	=	₹45.00,	annual	income	=
(i) ₹360.00 (ii) ₹378.00 (iii) ₹344.00 (iv) ₹377.00

18. If	total	investment	=	₹10500.00,	dividend	=	6.00%,	number	of	shares	=	60,	premium	=	₹25.00,	annual	rate	ofreturn	=
(i) 4.14% (ii) 7.14% (iii) 3.14% (iv) 6.14% (v) 5.14%

19. If	total	 investment	=	₹3500.00,	face	value	=	₹50.00,	premium	percentage	=	40.00%,	dividend	=	9.00%,	no	ofshares	=
(i) 50 (ii) 47 (iii) 53 (iv) 45 (v) 55

20. If	 total	 investment	 =	 ₹12750.00,	 face	 value	 =	 ₹130.00,	 premium	 percentage	 =	 15.38%,	 dividend	 =	 5.00%,premium	=
(i) ₹17.00 (ii) ₹15.00 (iii) ₹25.00 (iv) ₹20.00 (v) ₹23.00

21. If	total	investment	=	₹2700.00,	face	value	=	₹100.00,	premium	percentage	=	35.00%,	dividend	=	5.00%,	totalface	value	=
(i) ₹1920.00 (ii) ₹2040.00 (iii) ₹2160.00 (iv) ₹1770.00 (v) ₹2000.00

22. If	total	investment	=	₹13300.00,	face	value	=	₹130.00,	premium	percentage	=	7.69%,	dividend	=	7.00%,	annualincome	on	each	share	=
(i) ₹8.10 (ii) ₹9.10 (iii) ₹10.10 (iv) ₹7.10 (v) ₹11.10

23. If	total	investment	=	₹9350.00,	face	value	=	₹90.00,	premium	percentage	=	22.22%,	dividend	=	10.00%,	annualincome	=
(i) ₹770.00 (ii) ₹765.00 (iii) ₹741.00 (iv) ₹753.00 (v) ₹791.00

24. If	 total	 investment	 =	 ₹11000.00,	 face	 value	 =	 ₹150.00,	 premium	 percentage	 =	 33.33%,	 dividend	 =	 2.00%,annual	rate	of	return	=
(i) 3.50% (ii) 2.50% (iii) 9.50% (iv) 0.50% (v) 1.50%

25. If	face	value	=	₹200.00,	dividend	=	10.00%,	premium	percentage	=	12.50%,	annual	income	=	₹1700.00,	marketvalue	=
(i) ₹197.00 (ii) ₹209.00 (iii) ₹241.00 (iv) ₹242.00 (v) ₹225.00

26. If	 face	value	=	₹150.00,	dividend	=	8.00%,	premium	percentage	=	26.67%,	annual	 income	=	₹1200.00,	no	ofshares	=
(i) 125 (ii) 112 (iii) 76 (iv) 96 (v) 100



27. If	face	value	=	₹40.00,	dividend	=	2.00%,	premium	percentage	=	112.50%,	annual	income	=	₹16.00,	premium	=
(i) ₹40.00 (ii) ₹45.00 (iii) ₹42.00 (iv) ₹50.00 (v) ₹48.00

28. If	face	value	=	₹40.00,	dividend	=	3.00%,	premium	percentage	=	125.00%,	annual	income	=	₹90.00,	total	facevalue	=
(i) ₹3230.00 (ii) ₹2780.00 (iii) ₹3000.00 (iv) ₹2840.00 (v) ₹3020.00

29. If	face	value	=	₹170.00,	dividend	=	10.00%,	premium	percentage	=	14.71%,	annual	 income	=	₹1190.00,	totalinvestment	=
(i) ₹14950.00 (ii) ₹12350.00 (iii) ₹13650.00 (iv) ₹13850.00 (v) ₹11850.00

30. If	 face	value	=	₹60.00,	dividend	=	7.00%,	premium	percentage	=	41.67%,	annual	 income	=	₹315.00,	annualincome	on	each	share	=
(i) ₹5.20 (ii) ₹2.20 (iii) ₹4.20 (iv) ₹3.20 (v) ₹6.20

31. If	face	value	=	₹50.00,	dividend	=	2.00%,	premium	percentage	=	100.00%,	annual	income	=	₹95.00,	annual	rateof	return	=
(i) 9.00% (ii) 1.00% (iii) 0.00% (iv) 3.00% (v) 2.00%

32. If	no	of	shares	bought	=	55	,	face	value	=	₹170.00	,	premium	percent	=	23.53%,	rate	of	return	=	6.48%,	marketvalue	=
(i) ₹218.00 (ii) ₹233.00 (iii) ₹194.00 (iv) ₹210.00 (v) ₹206.00

33. If	no	of	shares	bought	=	30	,	face	value	=	₹100.00	,	premium	percent	=	45.00%,	rate	of	return	=	5.52%,	rate	ofdividend	=
(i) 7.00% (ii) 8.00% (iii) 6.00% (iv) 10.00% (v) 9.00%

34. If	 no	 of	 shares	 bought	 =	 95	 ,	 face	 value	 =	 ₹30.00	 ,	 premium	 percent	 =	 166.67%,	 rate	 of	 return	 =	 0.75%,premium	=
(i) ₹47.00 (ii) ₹55.00 (iii) ₹50.00 (iv) ₹53.00 (v) ₹45.00

35. If	no	of	shares	bought	=	70	,	face	value	=	₹100.00	,	premium	percent	=	30.00%,	rate	of	return	=	2.31%,	totalface	value	=
(i) ₹7180.00 (ii) ₹6740.00 (iii) ₹7000.00 (iv) ₹7070.00 (v) ₹6850.00

36. If	no	of	shares	bought	=	55	,	face	value	=	₹140.00	,	premium	percent	=	21.43%,	rate	of	return	=	5.76%,	totalinvestment	=
(i) ₹9350.00 (ii) ₹9200.00 (iii) ₹9310.00 (iv) ₹9410.00 (v) ₹9470.00

37. If	no	of	shares	bought	=	80	,	face	value	=	₹150.00	,	premium	percent	=	23.33%,	rate	of	return	=	3.24%,	annualincome	on	each	share	=
(i) ₹5.00 (ii) ₹8.00 (iii) ₹7.00 (iv) ₹4.00 (v) ₹6.00

38. If	no	of	shares	bought	=	80	,	face	value	=	₹140.00	,	premium	percent	=	32.14%,	rate	of	return	=	4.54%,	annualincome	=
(i) ₹664.00 (ii) ₹672.00 (iii) ₹698.00 (iv) ₹679.00 (v) ₹656.00
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